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Violin Making

With many stringed instruments (by “stringed”
we refer to instruments played with a bow) in
existence, all over the world and throughout
history, the violin may be the most iconic

i
stringed instrument —at least with regard to ( T

soloing. The most expensive instruments in
existence today are particular violins, with
makers studying the art all over the world.

The idea of bowed stringed instruments may
have come to Europe from Asia, either from the
Far East or from the Indian subcontinent. It is
also possible that the origin of bowed strings is
found in the Middle East, or, most likely of all, it
may be that the idea of producing music by
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Bowed stringed instruments were invented
most possibly by

Q hunters who used a bow and
string to produce sound.

B people who lived in the Middle
East.

C ' Italian in the late 15th century.

D) luthier whose earlier job was to
make and repair lutes.
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iInstruments

JR3C: XNV IEXEE2ES ...ormost likely of all, it
maybe that the idea of producing music
applying an ordinary hunting bow to a taut
string was discovered independently in
many parts of the world.

B NZE, RAEYUERNBEIARZ, XMAITHE
AN S B LR EZF RAEAZ M
FEZ N ANRERIH T & RER

f##T: Bowed stringed instruments were invented
most possibly by S 5% Ragix B 7] sk =W 1
A BAAY A hunters who used a bow and

string to produce sound. i S 5% & H 7 i
K% A B people who lived in the Middle
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13 A B people who lived in the Middle
East. (FEFRZEREI A C ltalian in the late
15th century. +FA 22 HARI R K FIA D

luthier whose earlier job was to make and
repair lutes. RHAHEFZIEEFER HIE
=)

Question 2 2/7

The following statements describe the
features of violin EXCEPT?

A It has the f-holes and four
strings.

B It has a fingerboard and a peg-
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IB‘_ It has a fingerboard and a peg-

DoOX.

C I Its strings can be shortened with
fngers.

Q It can only be plucked.

AT

Keywords: features

JRX: XFRZIE X EE3EL Makers added a
fingerboard to the medieval instrument,
allowing the instrument to be bowed and
strings shortened with fingers, rather than
only plucked. The viola da braccio was the
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only plucked. The viola da braccio was the
direct predecessor of the violin, eventually
being made with four strings tuned in
fifths(the vilin’s string intervals), the f-holes,
and a peg-box for tunning.

8 IEMNEXMEF LN EER, XEmaEE
IREBEN ST, XA FIRIRELLEEE
—&, MAEZREF MK, HAIAFHX
REFZE. PREELE/IMEATNERE
g, MNEERZEZERAA—ITNUZ,
Rz hEEE, HAESFL, —1
ARIEAZFNFEARREE.

fi@#r:  The following statements describe the
features of violin EXCEPT? &I J1/ ik
B, BPRERE/NMEFEN? Althas the
f-holes and four strings. BBz FfEFL B It
has a fingerboard and a peg-box. BB &k
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has a fingerboard and a peg-box. E B &k
FEEE2 3L C Its strings can shortened withe

fingers. ERISZBE FHEFT4a%a D It can
only be plucked. & R &3k

Question 3 3/7

One reason why antique violins are so
valuable is that

A they were made several centuries
ago.

B most of them were made by
Andrea Amati.
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C ) their makers were students of
Andrea Amati.

Q they were made by masters and
remained fewer.

AT

Keywords: remained fewer, rarity; valuable,
million-dollar prices; valuable

JR3C: R IEXEE6ER Hence, the rarity, along
with the creator of the violin, give the
antique violins reasons to command
million-dollar prices at public auctions.

B b, fRtEEEDB M ESEEI ML
7, EUHERFNNBLERSZES L2
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One reason why antique violins are so
valuable is that & H12 % 2 FrABEBN{E S
SRR AR A they were made several
centuries ago. Efi &/ LML LA RT#HIE
£ &1 B most of them were made by

Andrea Amati. Ef TR X ZHEZHE R
wE-ParIBEs HERY C their makers were
students of Andrea Amati. E 1184 i & 2
LZEZ - IDE [ 5E S D they were made by
masters and remained fewer. 21152 H K/

1173 ) L At A >

Question 4 4/7

Large scale production may not make the
best violin because
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A the best wood with special
qualities no longer exists.

@ even computer-controlled
machines cannot pick out the
correct wood.

C wood is too heavy to be applied
to mass-production.

‘D) harder wood is better and has to
be chopped out manually.

AT
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Keywords: large scale production, mass-
production; large scale production

JRC: R IECEE8EE It is also because of this
aspect that mass-production of violins has
to fail: these days even with modern,
computer-controlled machines;

. XthEAMA/MRELEZRENERERE: B
EEIMS, BRI REEYLRER S
EtL AT,

fig#r: Large scale production may not make the

best violin because A#t &4 F= 7o 3% Hli& H
BT/ NMEERNRER? A the best wood
with special qualities no longer exists. fx4f
HARBRELAREHFLET. Beven
computer-controlled machines cannot pick
out the correct wood. 5t 52 H ARAG 1% A1
sy kAR HEERIAR L C wood is too
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heavy to be applied to mass-production. X3

|rERW, BTN ARARKSEEANE D

harder wood is better and has to be

chopped out manually. 8 57 7 [f i 584 4]
IR FIRA 1T

Question 5 5/7

According to a blindfolded hearing
experiment,

A a modern violin sounds better
than a Stradivarius.

B a Stradivarius sounds better than
a modern violin.
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@ a Stradivarius sounds better in a
special place.

D) audiences can distinguish a
modern violin and a Stradivarius.

AT

Keywords: blindfolded hearing

JR3C: XN IEX SO ...the fiddles made by the
old masters do not in fact sound better
than high-quality modern instruments,
according to a blindfolded hearing test. The
modern instruments are very easy to play
and sound good to ears, but what made
the old instruments great was their power
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in the hall.

#F: L RAMEMFERLEBEBERNRITENS
FERIRE, XEEYEITNIRSENE
it. IREFEERZLF, mMARRRK
hEEM, MAEERSFESRIATERR
Y 7 BB S AR AT /N o

fig#fr:  According to a blindfolded hearing
experiment, IRIEEUTNIX, A a modern
violin sounds better than a Stradivarius
RAMRENESELERTFRIEEL Ba
Stradivarius sounds better than a modern
violin, HrFR 8L MR/ NMEE MBS ELT C
a Stradivarius sounds better in a special
place. HrfFH B L AF IR S E R

4F D audiences can distinguish a modern
violin an a Stradivarius. Ir 2 fI18E4 H IR
INRERNFEMITFREN S 6
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Choose FOUR letters, A-G.

According to the passage above, what are
the difference between The Modern and the
Baroque’s violin?

A The coating rosin

B The shape of the bow

C The horse hair

D The length of the fngerboard
E The bridge of the violin

F The shape of the neck

G The sound in a hall

) sora
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Keywords: 7L [E XSGk T ik i R A A A
it XEFEME, EREBERIULH
B/NEEFIE KM IR & ey
H, F217-18tH42 |8,

A3 MR IESEEAEE+E8E9ES The Modern violin
differs from the Baroque era(of the 17th
and 18th centuries) in a few aspects: the
neck of the modern violin slopes downward
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neck of the modern violin slopes downward
where the Baroque's extents straight, and
the modern fingerboard goes much farther
toward the bridge of the violin. The
Baroque bow differs from the modern bow
also, with the wood parallel to the hair until
curving towards downward at the tip, while
the modern bow curves downward and
then back up in a very slight concave
shape. ...but what made the old
instruments great was their power in the
hall.

#}F DR/NMRESEERRN (17-18tH4EE)
F/NRE, ARETEARMEE: IR/
RERE I TR E & e AR S
B, MREFNBREK, HWEEFH
Hifk, BRERNENSESHRRNES
tLEXH, HZRESEFTESZM, R
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EHTXimBETHESH, MARES
EE TEALEMAER, . MmhER
EEBFRRATEBRLEN HEOHEART
IINER o

fi@#fT:  According to the passage above, what are
the difference between The Modern and
the Baroque’s violin? 1R#E_Eih g &, I
RRZFFEE A HIRENX B2 A7
A The coating rosin B2 (55%) HIAZ B
The shape of the bow S IfZIR C The
horse hair (5 _ER)) BREE D The length
of the fingerboard ¥R A1 E E The bridge
of the violin F2ZE A 245 F The shape of the
neck ZEMAFIR G The sound in a hall £
RTHHES

Question 10 7/7
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Which of the following is the most suitable
heading for the Reading Passage”

A The factors in determining the
price of violins

(®) The origin of the violin and violin
making

'C) The process of how to make a
violin

D The difference between ancient
and modern violin makers
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fi##r:  Which of the following is the most suitable
heading for the Reading Passage? T %!/
METEIE & ZiX R/ RIENBEE? A The
factors in determining the price of violins &
E/MEEMIEH—LEE K B The origin of
the violin and violin making /N2 fl#2 5 0
#3& C The process of how to make a violin

an4ay 4 i&—$0/ N2 EE D The difference
between ancient and modern violin makers

B REMAR/NRF FIEE R X 5



